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Adjustments to a changing environment

Acclimation
Short-term, reversible adjustment in a trait in response to a change in 
environmental conditions.
Increase of tolerance to stress levels from an environmental factor.

(Phenotypical) Plasticity
The ability of an organism to alter its traits in response to 
environmental changes during its lifetime.

Adaptation
Long-term, evolutionary changes in a population to adjust to 
environmental changes. 

Impact on how ecosystems track the pace in climate change
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1. Tree rings allow tracking 
growth and physiological 
responses of trees over their 
lifetime



2. Rural-to-urban gradients in megacities

Parc Montsouris

https://en.wikipedia.org/wiki/Parc_Montsouris


Fitzroya cupressoides, transmission electronic microscopy (TEM)

3. Acclimation of leaf function in ancient trees

Wax plug stomatal occlusion



Cold-adapted conifer: climate drying neutralises effect+ of CO2 increase
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Adding dendrometers to monitor growth, allocation and stress: whole tree perspective



Adding dendrometers to monitor growth, allocation and stress: whole tree perspective
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Groot = 𝛽 x Gstem
∝

ln[Groot]= ln[𝛽] + ∝ x ln[Gstem]

(∝: allometric exponent)



20+ supersites worldwide
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